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Instructions for the Candidates
Write your Hall Ticket Number in the space provided on the top
of this page.
This paper consists of fifty multiple-choice type of questions.
At the commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to open
the booklet and compulsorily examine it as below :

(i) Tohave access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

After this verification is over, the Test Booklet Number
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on the
correct response against each item.

Example: @ . @

where (C) is the correct response.

Your responses to the items are to be indicated in the OMR Answer
Sheet given to you. If you mark at any place other than in the
circle in the Answer Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

The candidate must handover the OMR Answer Sheet to the
invigilators at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. The
candidate is allowed to take away the carbon copy of OMR
Sheet and used Question paper booklet at the end of the
examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.

(ii)

(iii)
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S0 EREEERss (9, 50 TowS Tastiid Q20 983
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m@gmé SBA zg&b:%‘o T8 extSowarr SO &y BB9RIER) Soiod.

DEIoBYO [HEH(B00 WIPYEES R SHo0ixe g,
(iii)

esBixsor OMR 5550 oayt & FamysEin pAgSEwod Tosa.

. 5O D DD BT Bocses (A), (B), (C) seease (D)
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(A) Value
(C) Truth

(B) Reality
(D) Matter

. Who propagated the concept of ‘learning

in communion with nature’ ?
(A) Vivekananda

(B) Aurobindo

C) Tagore
)

(
(D) Gandhi

. The knowledge that is dependent on

experience/evidence is called as
(A) Experiential knowledge
(B) ‘apriori’ knowledge

)
C) Appropriate knowledge
D)

(
(

aposteriori’ knowledge

. Which of the following helps in attaining

Intuitive knowledge ?

i) Internal Experience

ii) Social Evidence

iii) External Experience

iv
(A) iandii
(B)

C) iandiii

D)

)

)

)

) Empirical Evidence
iii and iv

(
(

ii and iv

R
Paper - I
FOCR |
. What is the main concern of Ontology ? 1. Szego (Ontology) Eekore B B9800 2
A) deosen

2. ‘@R ol BHOE 5050 ¢iHEo’ e grHE
OS> @G0 BT 9
(A) IEs50e505 (B) ex590¢55¢0
(C) erRE (D) od
3. eRogissn/TY 0p SETHED eTr) Ao
DO 9
(A) o80eyT8,8 erdo
knowledge)
(B) @3:aT87)5sE  erso
knowledge)
(C) D808
knowledge)
(D) o8y 088 exSo (Aposteriori
knowledge)

(Experiential
(Apriori

800 (Appropriate

4. o888 exaedy (Intuitive knowledge)
o3t 408 T3S D Ao 9
() @o888  ©8oeySIH%0
Experience)
(i) F57ess g g0 (Social Evidence)
(i) ers3eg escsoeyssioo (External Experience)
(V) @80ey5°0ss J°g s3o0 (Empirical

(Internal

Evidence)
(A) i 0800y i (B) iii x080%0 iv
(C) iS00 iii (D) i 20800 iv
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5. Match the following :

a. Metaphysics 1.
b. Epistemology 2.
c. Naturalism 3.
d. Ethics 4.
a b c
(A) 1 3 2
(B) 4 1 2
C) 4 2 3

(D) 1 3 4

Knowledge, its
structure

The universe is
governed by law of
nature

Principles of conduct
Reality, its nature

- w A

2

. Which school of thought mainly advocates
that a child is an integral part of ultimate

universe ?
(A) Naturalism (B) Pragmatism
(C) Realism (D) Idealism

. Who is the founder of pragmatism ?
(A) Dewey (B) James
(C) Kilpatric (D) Peirce

. Which school of thought emphasises mind

over matter ?
(A) ldealism
(C) Materialism

. Match the following :
a) Buddhism 1.

b) Jainism 2.
c) Sankhya
d) Vedanta

a b c
A2 4 1
(B) 4 1 3
(C) 3 4 2
)3 1 4

(B) Realism
(D) Naturalism

Knowledge section

Consciousness and
matter

3. Four noble truths

4. Non-violence

d

N = N W

5. 208 7763 23805050 ¢

a. 9QeIRE a@m 1. BP0, o b@&maﬁw

b. 20 350 2. BHY JaNITHTT0o
AEo0 oo BoW
22¢OBO0E

C. BHOTEH0 3. DEGE ool ArEed
d. DS 7o 4. OBTrED, T SR

a b c d
(A) 1 3 2 4
(B) 4 1 2 38
C) 4 2 3 1
(D) 1 3 4 2

. 200 738° D &I Ao erendy ©odso

%08 OBTHOM 280 92
(A) EHSTEE

(B) 9st08dmraresioo
(©) DTG0

(D) grsaresso

. TGOIFOE DT TR 000 DB ?

(A) crgoor (B) 255
(C) &5reds (D) 20008y
. D 58S G0 T Soe3 B0y BooPgHad)
o §ZI2>330305>?
(A) erseeesso (B) DTG T30
(C) TS50 (D) ©5ST s
. 208 7730 e3BHRGOR
a) eI Sovo 1. &g Jgrio
b) & 5os0 2. DB BoBoK0
Xomgm
C) Jromgh0 3. TRl &R0 JTTeo
d) Dorosso 4. 25700
a b c d
(A) 2 4 1 3
(B) 4 1 3 2
(C) 3 4 2 1
(D) 3 1 4 2
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10.

11.

12.

13.

14.

>

The focus of logical empiricism is on

(A) Scientific methodology

(B) Speculative methodology

(C) Both

(D) None

The ‘Sankhya Darsana’ is advocated by
(A) Jaimini

(B) Kanada

(C) Goutama

(D) Kapila

Which of the following is not associated
with Rabindranath Tagore ?

(A) Theosophical Society

(B) Viswabharathi

(C) Nobel Prize

(D) National Anthem

Which of the following is the first
socialization agent ?

(A) School

(B) Community

(C) Home

(D) Society

Critically judge the following :

Assertion (A) : Construction of dams for
irrigation is necessary for
national development.
Construction of dams will
dislodge many ethnic
groups from their
habitations.

and (R) are true

and (R) are false

Reason (R) :

A) Both (A

(
B) Both (A
C) Only (A
D) Only (R

is true, but (R) is false

is true

(A)
(B)
(©)
(D)

N O~ ~— ~—

10.

11.

12.

13.

14.

T°0),& 550879 TS0 WP S0 B¥BoB ?
(A) 7500 358

Fromps SR BHTOONS T
(A) 20

(B) Sewcirss

(C) Ao

(D) >enco

208 736" D8 5Do5TH e7R B2 02080V
o0 92
(A) BATTHES e
(B) Digersd
(C) T8 208088500
(D) exdard Ak
208 736 DB Doocsed Fromdses A 2
(A) ez
(B) %oomearo (Community)
(C)
(D) & (Somety)

2083 SoGTEIon K)q;@obo&
Do e (A) 1erSako ©DBYBT Froel
QB?@§€£@?§J é’)@&o{éaﬁo 955080

5220 (R) : SIEQO JTEI0 HQ R
2P0 DRI T8 IR
PPOTO 006 SONoW )

(A) 200> (A) D080 (R) &g

(B) 200> (A) S080iw (R) exdegsa

(C) wo (A) Bsgso, 50 (R) edsgion

(D) 35e0 (R) SBg000
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15.

16.

17.

18.

19.

n>

Modernization is

(A) Development of Western Outlook
(B)
(C)
(D)

Acculturation
Enculturation

Development of Rational Outlook

All the following are Fundamental Rights
guaranteed by the Indian Constitution
except
(A) the right to equality
(B) the right against exploitation
(C)
(D)

D) the right to freedom of religion

the right to employment

Social reform aims at changing the
(A) basic values of the society

(B) norms of the group

(C)

(D)

religious practices

habits of the individuals

Social development is essentially a matter
of
(A) conformity to the demands of the
individual
(B) the achievement of social security
and acceptance
(C) the integration of one’s purposes with
those of the social order
(D) the development of one’s own skills

Which of the following is not an attribute
of National Integration ?

(A) cultural cohesion

(B) human dignity

(C) national identity

(D) sentimental prejudices

15.

16.

17.

18.

19.

AR O O
e5302455830 D8
(A) Frayss cme) el Brossco
(B) “oi)@stero (Acculturation)
(€)
(D) “rsomees cmee ed Bo8iHco

do® Bssteso (Enculturation)

gT05 Tegorio (F5°00 300 Te3E” @Eans ),
208

TOWE ©HING @30 $0b T35 3L
200200800VIE ?
(A) 5550 A5ro&en @oisBowEo
(B) Jroond giiiss, ermrdy rHowo
(C) Frsres EongsH 3 ParuTes:
Sossamo Dabeso
(D) 3558 dsaid FDeTits efiod Broseo

300 T3E° erHOK ST ©5E0 SAB 9
(A) Tro)BE Socdresso

(B) 50205550

(C) 0% doged

(D) &8s
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20. In his/her relationships with students, a
teacher should be

(A) stern and unapproachable
(B) free and easily mixing
(C)
(D)

D) sarcastic and criticizing

friendly and dignified

21. If an elder child behaves like an infant when

a new sibling is born, it refers to
(A) Repression
(B)
(C)
(D)

Regression
Rationalization
Reaction formation

22. Which of the matching of intelligence type
to the type of the people of specific fields is
correct ?

(A) Physicists have
Intelligence

Interpersonal

(B) Surgeons have Bodily-kinaesthetic
Intelligence

(C) Sales persons
Intelligence

have Spatial

(D) Painters have Logico-mathematical
Intelligence

23. The sequence of the process of creativity

(A) Hlumination, incubation, verification,
preparation

(B) Preparation, incubation, illumination,
verification

(C) Preparation, illumination, incubation,
verification

(D) Verification, preparation, incubation,
illumination

> 7

20. egReibucy IR O Ao o ?
(A) 5850 58050 SIS TN
(B) 2oy 000k sowgion SOvFAber
(C) T3rdsson SoBain RSy Ssson
(D) B50msor Bo8axo BB

21. wrencs 8o wrdf B0 St Heosd
BOAHTTD FEHT® (5500 (EHIEAD D006 9
(A) 20050 (Repression)
(B) 9505500 (Regression)
(C)
(D) @dwoeg 283 (Reaction formation)

Sredsenss (Rationalization)

22, 300 TeIE D SRS By WAl B o
B0 SO BBRGHeGod
(A) TS TFHB20 JONIToBS (Hgo A
€060
(B) 3 Desoge0 508 oo (Bggdo SON eoered
(C) Joen B0 Koo ggdo EON €0
(D) DgEsethen T0),E Meds (Bgdo SO doerth
=3

23, Sy BEAH Ao, o0

(A) (2528500, 08 DS, VWOVFEEo,
ORPODE0THEEO

(B) S5ra@osTseio, q0SHss, s s,
INonbLalele)

(C) RRETFOHBOTHED, S50, F0SHESS,
INonbLalele)

(D) RO, SETALBOTHEO, R0B5ERS,
(S°ER0
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Read the following passage and answer
the questions 24 and 25

The mechanism of interference is one of the
responsible factors for forgetting. It has the
negative inhibiting effect of one learning
experience on another. It refers to the
condition of a new learning working
backward to impair the retention of old
learning or the old learning working forward
to disrupt later learning, which are termed
as retro-active and pro-active inhibitions
respectively. Another explanation for
forgetting is that due to lapse of time the learnt
material decays through disuse.

24. According to the theory of interference,
proactive interference is the
(A) determental effect of prior learning on
later learning
(B) determental effect of later learning on
prior learning
(C) determental effect of decay
(D) none of the above

25. Interference theory explains inhibitions
when

(A) similarities are more in learning of the
materials

(B) dissimilarities are more in learning of
the materials

(C) both Aand B

(D) none of the above

26. The unconscious elements of personality
cannot be studied by the following test

(A) Sentence completion test
(B) Story completion test

(C) Socio-drama

(D) Sociogram

n>

300 TR WA 24 $00%0 25 % [Fh
POSbL LU Gl tnlcTe

DS o & 7% Berso (interference) e,
2.5 esTrogio 3087 eiTrogkion & Eervo
5308 050G N0, B 308° Agore B
§gm 3601)??6& DVEHO FOHE 000 36\)&??@&
QB 008 W0’ et el oo o
OVEK DENT) DA BETB DENEES o
DTS 55830 FDA0WCED ST Ded B 1S
es58°¢s0 (retro-active inhibition) S & w500
exsG'go (pro-active inhibition) eoere. Disyd3
308" 52580, S0 AGDD 578 DEnHD) Ao
EDAATHOS” BE0ES €5 IREII0 HoRS HANPSEO.

24. &% e Sryoso B500 B TS e o el
(A) BET8 ITNT Sy IEIFy 7BSTLH
3(‘1}35" 20) RED0 e520558WE0
(B) 30555 I6nTS) NIy BT S
3(‘1}35" 29) RED0 e520558WE0
(C) &ex (decay) o eseooso Doyco
(D) 208 ¢

25. 2003 O HORIS &5 (Hard vroBo
(Interference theory) ex58°G2; (inhibition)
DHB008

(A) @87 IS0 Q)BT NP

(B) @a,jémoo%wess DOS0 S0

(C)

(D)

r’eﬂ r’eﬂ

§)§°cﬁa

26. 20038 D I, (test) oroe KurEedo Gy,
DBETOT 0D @I5AI000 WAHSH00 ?

(A) 5590 DEX,

(B) &5 550 D83,

(C) TrowgTexso (Socio-drama)
(D) Troansod (Sociogram)
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27. According to Kohlberg, which stage
correctly matches with age ?
(A) Punishment and obedience 2 to

4 years
(B) Universal ethical principles after

13 years

(C) Utility of individual rights 10 to
12 years

(D) Instrumental purpose and exchange

after 12 years

28. Which of the following is a creativity
tests ?
(A) Raven’s Progressive tests

(B) Stanford Binet’s tests

(C) Torrence tests

(D) Pass along tests

29. The following does not enrich the gifted
children
(A) Work on independent projects
(B) Prepare reports of the activities
(C) Library work
(D) Double promotion
30. The boy learned to be afraid of maths but
not afraid of the mathematics teacher. Itis
due to
(A) Multiple discrimination
(B) Stimulus discrimination
(C) Response discrimination
(D) Generalization
31. Good adjustment is
l. Self-oriented
ll. Reality-oriented
lIl. Situation-oriented

IV. People-oriented
(A) landlll
(C) land IV

(B) lland lll
(D) land Il

>

27. Srdd 5700, 08 T3 D ¥ BT
€39 SADRRE O 2B BedEod
(A) 35508030 JPA0B 2 — 4 BoBEHT e
(B) iesdsd DAY r@rey 13 H09855000
Lo
(C) 35818 a0 &dBrAss 10 — 12

QOIT°
(D) et,f}aéé JPES0o SodaYw IrEso 12

KOS 5H00 BT

28. 200 T O VyTHES IEN
(A) TSy T AEJ
(B) “IS96 & D83
(C) 735,280,
(D) % deroh D5

29. $00 T¢3S° DO PIETIoBOGI eSO
D0HOBEHES 2

(A) SBogone (@reEsy 9 Dodso
(B) $yron InbEes B DasheEo
(C) (logroa 5
(D) Bedod) DERS
30. 2.52re0dS Medd erTeibociold 21000 8o S
Ke3B50063 gJ000. 3O 0D ?
(A) 2o50F Jgen
(B) ey e
(C) B30 BgE
(D) Forosedsses
31, 5015 d8peren 0
I S0 20380 (Self-oriented)
Il. ooy 2630 (Reality-oriented)
lll. 5058 2530 (Situation-oriented)

IV. e 98380 (People-oriented)
(A) 1508055 Il (B) 11508050 1
(C) 1508050 IV (D) |80 I
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32.

33.

34.

35.

n>

Army Alpha test is
l. agroup test
ll. an individual test

lll. averbal test

IV. Non-verbal test
(A) lland I (B) land IV
(C) land lll (D) land IV

The method(s) suitable to learn the lengthy
material

l. Whole method

ll. Part method

lIl. Spaced method
IV. Recitation method

(A) landlll (B) lland 1l

(C) land IV (D) lland IV

Developmental needs in human beings
according to Maslow in their sequence

1. Safety need

2. Food need

3. Self esteem need
4. Need for affection
(A) 1,2,3,4

(C) 1,2,4,3

(B) 1,4,3,2
(D) 2,1,4,3

|dentify the correct sequence in Bandura’s

social learning.

(A) Reinforcement,
reproduction, retention

(B) Reinforcement, retention, attention,
reproduction

(C) Attention, retention, reproduction,
reinforcement

(D) Attention, retention, reinforcement,
reproduction

attention,

10

0000 OO
32. esé&eﬁefi) DL GDE
. e JPHoars DED,
Il 2.5 Pa08E D55,
. es705 285,

V. 785253
(A) 1155005 Il
(C) 150805 Il

(B) 35805 IV
(D) 1150805 IV

33. IYBS womely (lengthy material)

EetiSaitiestvaty
. S035°8 (Whole) Nl
Il. Jerv 3¢5 (Part method)
lll. o550 5¢58 (Spaced method)

IV. $582a¥eso (Recitation method)
(A) 1558055 Il (B) 11508050 Il
(C) 1508050 IV (D) 11508050 IV

34. 55 (S 00 DoBHGD DT WSO E5000
1. 5560 50052

2. 55550 0030

3. Sxa R&R.(Self esteem) esisss

4. o5 0300 (Need for affection)
(A) 1,2,8,4 (B) 1,4,3,2

(C) 1,2,4,3 (D) 2,1,4,3

35. 0TS BITHoIS Tropos eeigsso (social
learning) <o), 500
(A) DRG0, P[P0, DPITAED, e
(B) DRG0, TPOE3, VNP0, DTN
(C)
(D) oo, Grses, DRG0, DRSBTS

S0, GRUED, DRTHSS, HHSER0
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36. Guidance at school level mainly aims at
I. School excellence
Il. Academic excellence
Ill. Human excellence

IV. Family excellence

(A) land Il

(B) lland Il
(C) llland IV
(D) lland IV

37. Out of the following questions which one

doesnot lend itself to action research in
schools ?

(A) How did students in the 20" century

study ?

(B) How can academic content be
presented to improve learning ?

(C) How can teachers encourage
students to think critically ?

(D) Does involvement of parents in
child’s education improve their
achievement ?

38. Which of the following are common
elements of a research proposal and a
research report ?

1. Objectives and Hypothesis
Suggestions for further research
Need and rationale of study

H N

Sampling and data collection
procedures

(A) 1,2,3
©) 1,3,4

(B) 2,3,4
(D) 1,2,4

> 11

36. 070 L0008 BRGS0 ook, Hgs E%0
. Sre7e 358 (excellence)
Il. Do @5
ll. 5500 @

IV. Senoe B

(A) 150005 11l

(B) 1150005 Il
(C) 111508055 IV
(D) 1150805 IV

37. 300 T8 O () TS JTEE HOFES
(action research) £ 538o°¢o 2
(A) 20 35 508’ Ao JT° PO
DO 9
(B) eoidiio 8rh0IS Aoy @07 I
(C) dzegiizen InogrsSon ed Dot
%ﬁ"’@"zsofil)@o oy @%ﬁ?oﬁﬁ@@ ?
(D) eroo 3.)65565 BOSoge S0 59 0
(D R0EOMNEIBOT ?

38. 308 T%3S° DY D05 ET RAIES’ H$o8AK0
0BG TR T T8I BoreS 0T

1. o3 5O Q00000 H05Ye
BT HOTESS VD50
eRODE0 C00Y, 0 SO0 ST 25
@3RN0 (Sampling) $5o80%0 S55ws
25 BB
(A) 1,2,3
(C) 1,3,4

H W D

(B) 2,3,4
(D) 1,2,4
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39. No research is possible without

(A
(B
(C
(D

Formulating a hypothesis
Applying scientific approach
Using statistical techniques
All of the above

e A T

40. For computing the value of t, one must

calculate

(A) means as well as standard error of
difference between means

(B) means and medians

(C) standard deviation and quartile
deviation

(D) mean deviations and standard
deviations

41. Which is the type of research in which the
independent variable is manipulated ?
(A) causal - comparative research
(B) experimental research
(C) ethnography
(D)

D) correlational research

42. Assertion (A) : Two researchers observing
exactly the same
responses assigned two
different scores.

Two researchers viewed

responses from their own

view points.

(A) Ais true but R is false

(B) Ais false and R is true

(C) A and R are true but R is not the
correct explanation

(D) A andR are true and R is the correct
explanation

Reason (R) :

n>

39. 200 738" D0 BHOES HOFES 0 570 ?
(A) H08eyden Srdrofotto
(B) R &xsitardy AISATAoBE0
(C) TropgEmeR wIHHew edcirhoBicio
(D) 22

40. ‘1’ Densio 88,0508 S8 T3S B MedoTd 9
(A) ©080EETeS e SoSEHTe So¢kio
TRTE3E &0 B, B
(B) e0o850¢g5omes 5000500 SogNeme
(C) @raoresds 20ebo 00K WHTroE Adedo
(D) @0o530655%0 IS0 000k E JBWoTed

41. 208 738" O FERD BBEENS® BBoB BETE
9S00 (Manipulation) 2
(A) §J°é§03€®5§ (causal) - BooT&E
(comparative) 565
(B) BRTTEE B0
(C) Sris%erd 7o (ethnography)
(D) &5md02308 0SS

42. 500 (A) 1 3t B05EHe &3 S50
OBN0ES0E Bocy D83y
HEFDLD T

=Sese (R) 3D 05 ¢ PO

T8 0 50N SyHyES

B

(A) A 585500 5°0 R endsgioo

(B) A esiddigins 50000 R 0580

(C) A 00am» R H¥55 520 R 159% 200
0

(D) A 080 R g 5005 R 15850 2568
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43.

44,

>

The degree to which an item distinguishes
between high and low groups, as they are
high and low on the basis of the same test
scores is referred as
(A) Item validity

(B)
(C)
(D)

Item reliability
Item difficulty level

None of the above

Match the most appropriate correlation
coefficient with type of data available in X
and Y variables :
Both X and Y are

measured with

1. Product-moment
coefficient of

ordinal scale correlation (r)

Both Xand Y are 2. Tetrachoric (rt)
measured with
equal interval scale
Xis dichotomous 3. Rho (p)
and Y is an interval
scale

Both X and Y are 4. Bi-serial (rbis)
artificially

dichotomised

a b c d
A1 2 3 4
B2 3 4 1
()3 4 2
D4 3 2 1

13

43.

44,

28 D03 Mesde esgrtionT el woio (item) e
S0O0H0 D HR0T7TEORD )2 B0 BE) 2
ETNOIDD DS W ool 00T 9

(A) 0% JEH7res

(B) 0% 2590008

(C)

(D) 208 ¢

@0 7B i);ooo

X 500050 Y 38088 0ol D910
ST e VOO VT 00V0E AOEIS )
20B0G.

X 500050 Y ok
ERT0E B0
DOPH2IEDD

1. @a§ sorRo0ed
05525023085 Hoeso
(r)
X 50800 Yoosr 2. Qers’es (r)
ST AT HTHID
BBH0 DODGHD
X &g Devesrsys
500050 Y Qo7
B
X o000 $ysore 4. Zooond (r )
&g gresdo
TP AOWRICEID
a
A
B
C
D

b
1 2
3

N A A W O
—

(A)
(B) 2
(C) 3 1
(D) 4
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45. Statement 1: The discrimination index of
items in a tool is the

difference between the
mean scores of top and
bottom groups (the criterion

group).

Statement 2 : The difficulty level of the
item is also calculated by
considering the criterion
groups.

Both 1 and 2 are false

1 is true and 2 is false

1 is false and 2 is true

Both 1 and 2 are true

A
B
C

(
(
(
(D

S— N N

46. Which of the following statement is true ?
(A) one tailed test is used for testing non-
directional hypothesis
(B) one tailed test is used for testing
directional hypothesis
(C) one tailed test is used for testing null
hypothesis
(D) one tailed test is used for testing
alternative hypothesis

47. Partial correlation is used to

(A) nullify the impact of third variable on
the relationship between two
variables

(B) find out the combined relationship
among more than two variables

(C) Verify whether the relationship
between two variables is partial or
total

(D) formulate the correlation matrix

n>

2.5 &555820 (tool) &%) esoze
G0, DBEED B DO D
K08 BN SRarSo Cy),
WO Neasde 8¢k B
(OFETs 500550)

45. (oo 1:

@PNSe 21 wo¥o (item) c3aoE), 578
00D OFETH BHTSD0
SynS® Gosof e
Me3owsian

A) 1558050 2 o> 93855300

B) 1 D530 2000H0 2 B0

C) 1 085300 20000 2 DB

(
(
(
(D) 1 50800 2 Botir 585

)
)
)
)
46. 200 738" D0 BBgEw ?
(A) ©I335 5080y 5080w DEOF DS
(one tailed test ) &5 &5A3PATEO
(B) 538 5050000 5080umad Q80 D85
ESATATD
(C) 50755 508050 508003 D50 IS0
ESATATED
(D) EErgamod H0%0ysse 203008 D50
DEDB0 EHBTATES

47. g5 05700050 BIS EROCTATRD 9

(A) Toco BETHL Body PoROEoR BorE’
OB ooy, (a0 ETAgEOoNE DS

(B) Btk iS00 5063 50,55 BT°H00 208
3000 Howogrd) 5357 Xe08

(C) ot 5070 5365 9080650 350 €00
BT DOTPONT €200 b DOUTGEI3

(D) 257502308 SPEEL Srroonedd
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Read the following and answer questions
48 to 50

In an experiment subjects were classified on
the basis of their scientific attitude scores into
two distinct sub-groups with the size of ‘40’
each. After experimentation with an
intervention to both the groups were tested
for their level of acquisition of science
processing skills. The objective of this
experiment is to verify whether the sub-
groups with two distinct levels of scientific
attitude differed significantly in their science
processing skills.

48. To test his/her hypothesis the researcher
has to compute
(A) ‘Xz’ (Chi-square) value

(B) ‘r value

(C) T value

(D) ‘F’ value

49. If the null hypothesis is rejected at 5
percent level of significance when the
value of the used test is 1.98, the
researcher has committed
(A) Type | error
(B) Type ll error
(C) Type | and type Il errors
(D) No error

50. Inthis study suppose the H, is rejected at
0.01 level, will it hold true for
A) 0.05 level
B) 0.001 level
C) 0.05 level and also for 0.001 level
)

D) neither for 0.001 level nor for 0.05
level

(
(
(
(

30¢S FH5eacerd 90T WA 48 Sood 50 HEH Ko
(DEO DRTHTTe0 KOO0

2.5 BIrNoE” S50 a8, &), BB e Siarrod”
40 5000 €00t T FoBD TRAD SYEE Heade
50 HSOFBOBRGTE0. a8 AN FEo DD
BATTTR) AN BT & Bres FodS
DepTy BET FeTge Fond HBoBco
20RO, &3 (BATHO Y, GRFRR0E] IO
TR EHEFO Mo Dol &disaTirien 70 DTy
GO FYeTE, esdiboBorr o) Brhomdr 88
Benngico.

48. 505 BS 505N 3OZ0BENE DODLRLD
falar)y)

(A) 1 (5,56 2059

(B) rdeos

(C) t o0

(D) F oo

49. &5A3°RoRN AED, (test) oo 1.98, waw eod
5 780 (@oggroc (level of significance)
5GBTS HOEIB0 AT, 000HL00S e
250573500 300 T3 BAS axSEONTT 2

(A) 1585 &%

(B) 115550 &%
(C) 15 550 S08a%w 15 550 &p
(D) D &85 59650

50. 52 oFsod” 0.01 row $¢ Hy 9
BB, B00:060008 @98 200 TeIE" OIS Sowofod
RBESPBOOD

(A) 0.05Fax

(B) 0.001 oo

(C) 0.05 oo 80055 0.001 Frax
(D) 0.001 Srooo 525 0.05 o 7

>
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Space for Rough Work



